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Recapitula)on:  DTMCs


•  Markov  chains  describe  
the  behaviour  of  discrete-­‐state  systems.


•  Discrete-­‐)me  Markov  chains  
count  the  number  of  steps,  
but  not  how  long  a  step  takes.


•  Transient  state  and  steady-­‐state  analysis  
serve  to  calculate  state  probabili)es.




Probabilis)c  CTL


•  a  logic  to  describe  proper)es  
of  Markov  chains


•  extends  CTL

•  strictly  speaking,  not  a  quan)ta)ve  logic  
(truth  values  are  Boolean:  true  or  false)




win


lose


Is  the  probability  to  win  
the  game  high  enough?


...  without  
losing  it  first?


start


Constrained  Probabilis)c  Reachability




PCTL  syntax


•  state  formulas  φ,  ψ

– a   
   
   
   
   
   
   
   
   
atomic  proposi)on

– ¬φ   
   
   
   
   
   
   
   
   
nega)on

– φ∨ψ   
   
   
   
   
   
   
   
disjunc)on

– P<p(Π),  P≤p(Π),  P≥p(Π),  P>p(Π)   
probability  constraint


•  path  formulas  Π

– X  φ   
   
   
   
   
   
   
   
   
next  state

– ψ  U  φ   
   
   
   
   
   
   
   
unbounded  un)l

– ψ  U≤k  φ   
   
   
   
   
   
   
bounded  un)l


p  ∈  [0,1]




Path  formulas


•  X  φ


•  ψ  U  φ


•  ψ  U≤k  φ


φ


ψ

ψ


ψ

φ


≤k  transi)ons




Example  formulas...


•  simple  communica)on  protocol:  
sender  sends  a  message;  
it  gets  through  with  90%  probability;  
otherwise  it  is  resent  un)l  success.

– Model  this  Markov  chain.

– Formulate  a  useful  PCTL  property  for  this  MC.


•  Craps:

– Formulate  a  useful  PCTL  property  for  Craps.




PCTL  seman)cs


•  Formal  defini)on:

•  When  does  a  state  sa)sfy  a  state  formula?

•  When  does  a  path  sa)sfy  a  path  formula?




Formal  defini)on:  labelled  DTMC


•  A  Markov  chain  consists  of:

– S 
   
   
   
   
   
   
finite  set  of  states  

   
   
   
   
   
   
   
(oeen  S  =  {1,  2,  ...  n})


– P:  S  ×  S  !  [0,1]   
   
transi)on  probability  matrix  

   
   
   
   
   
   
   
(with  row  sums  =  1)


– π0:  S  !  [0,1]   
   
   
ini)al  state  distribu)on  
   
   
   
   
   
   
   
(some)mes)


– L:  S  !  2AP 
   
   
   
labelling  with  

   
   
   
   
   
   
   
atomic  proposi)ons




PCTL  seman)cs:  state  formulas


Sat(φ)  =  set  of  states  that  sa)sfy  φ:

•  Sat(a) 
   
   
   
=  {s  |  a  ∈  L(s)}

•  Sat(¬φ) 
   
   
=  S  \  Sat(φ)

•  Sat(φ∨ψ) 
   
   
=  Sat(φ)  ∪  Sat(ψ)


•  Sat(P≥p(Π)) 
   
=  {s  |  Probs  Sat(Π)  ≥  p}  etc.


•  Probs  Sat(Π) 
   
=  probability  to  get  a  Π-­‐path,  

   
   
   
   
   
   
=  if  you  start  in  s 




PCTL  seman)cs:  path  formulas


Sat(Π)  =  set  of  paths  that  sa)sfy  Π:

•  Sat(X  φ) 
   
   
=  {σ  |  σ[1]  ∈  Sat(φ)}

•  Sat(ψ  U  φ)   
   
=  {σ  |  ∃  i  ≥  0,  σ[i]  ∈  Sat(φ)  

   
   
   
   
   
   
=  {σ  |  and  ∀  j  <  i,  σ[j]  ∈  Sat(ψ)}


•  Sat(ψ  U≤k  φ) 
   
=  {σ  |  ∃  i  ≥  0,  i  ≤  k  and  σ[i]  ∈  Sat(φ)  

   
   
   
   
   
   
=  {σ  |  and  ∀  j  <  i,  σ[j]  ∈  Sat(ψ)}




Measurability


•  For  every  PCTL  path  formula,  
the  set  of  paths  sa)sfying  the  formula  
is  measurable  (i.  e.  is  in  the  σ-­‐algebra).


•  Proof:  one  can  construct  the  set  
as  a  (disjoint)  union  of  cylinder  sets...  
(details  on  board)




PCTL  model  checking


•  construct  sa)sfac)on  sets  bopom-­‐up  
(as  with  CTL  model  checking)


•  new  step:  probabilis)c  operator  P≥p(Π)  
!  constrained  probabilis)c  reachability




Example...


•  Craps,  formula  P>0.3(¬state4  U≤6  win)

•  “Is  the  probability  to  win  with  up  to  6  rolls  
>  0.3,  but  without  the  first  roll  being  4?”


•  Need  to  calculate  the  probability  of  
Sat(¬state4  U≤6  win)  =  union  of  cylinder  sets...  
(on  the  blackboard)




How  to  calculate  the  probability  
of  Sat(¬lose  U≤k  win)


•  Make  all  states  in  Sat(win)  absorbing.  
Reason:  All  paths  reaching  a  win-­‐state  sa)sfy  the  formula.


•  In  the  modified  MC,  
Sat(¬lose  U≤k  win)  =  Sat(¬lose  U=k  win)


•  Make  all  states  in  Sat(lose)  absorbing.  
Reason:  All  paths  reaching  a  lose-­‐state  falsify  the  formula.


•  In  the  modified  MC,  
Sat(¬lose  U=k  win)  =  Sat(true  U=k  win)




How  to  calculate  the  probability  
of  Sat(true  U=k  win)


•  Sat(true  U=k  win)  = 
set  of  paths  
   
   
   
   
   
   
   
   
that  reach  win  in  k  steps


•  Transient  probability  for  modified  Markov  
chain:  Pr(Sat(true  U=k  win))  =  πk  =  π0·∙Pk


•  sum  over  all  win-­‐states:  Σs∈Sat(win)  πk(s)

•  probability  =  π0·∙Pk·∙1win

•  calculate  this  for  all  ini)al  states  
π0  =  (1,  0,  0,  ...) 
π0  =  (0,  1,  0,  0,  ...) 
etc.  
!  vector  Pk·∙1win  


vector:  1  in  win-­‐states  
0  in  other  states


πk(s)  =  probability  to  be  
in  state  s  aeer  k  steps




How  to  calculate  
Sat(P≥p(¬lose  U≤k  win))


•  modify  Markov  chain:  
make  all  win-­‐  and  all  lose-­‐states  absorbing


•  calculate  πwin  =  Pk·∙1win

•  For  every  state  s:  
If  πwin(s)  ≥  p,  then  s  ∈  Sat(P≥p(¬lose  U≤k  win))


•  Advantage:  calculate  for  each  state  s  at  once!


πwin(s)  =  probability  
that  (¬lose  U≤k  win),  

if  star)ng  in  s




Example...


•  calculate  the  probabili)es  for  the  Craps  
example  and  P>0.3(¬(state  4)  U≤6  win)


•  Be  careful:  “lose”  gets  a  new  meaning  here.




Op)miza)on


•  There  may  be  stalemate  states  
(Poland  is  not  yet  lost,  but  it  will  never  win)


•  In  these  states,  probability  to  reach  win  is  =  0

•  Finding  stalemate  states  is  simpler  
than  matrix  calcula)ons


•  Therefore:  
also  make  stalemate  states  absorbing.




Stalemate  states


give  up


win


lose

start


✗




How  to  find  stalemate  states


give  up?


win


lose

start




How  to  find  stalemate  states


give  up?


win


lose

start




How  to  find  stalemate  states


win


lose

start


give  up?




How  to  find  stalemate  states


win


lose


give  up?


start




How  to  find  stalemate  states


win


lose

give  up?


start




How  to  find  stalemate  states


win


lose


✗

give  up?


start




How  to  find  U0


win


give  up

lose


U0

start


U0  =  {states  for  which  we  
know  already  that  πwin  =  0}




How  to  find  U0


•  create  list  of  winning  states

•  iterate  through  list  from  start  to  end:  

for  each  state,  
add  non-­‐losing  predecessors  to  end  of  list


•  when  itera)on  is  complete,  
the  list  contains  all  states  except  U0




Recapitula)on


•  PCTL:  a  logic  to  describe  proper)es  
of  Markov  chains


•  most  important  property:  un)l  formula  
=  constrained  probabilis)c  reachability


•  compute  probability  with  equa)on  system

– solu)on  is  unique  if  ...  



